D-AD15 . Practice Assessment
1. Water is being pumped into a 12-foot-tall cylindrical tank with diameter 8 feet. It is being pumped at a
constant rate of 0.5 cubic feet per second. At what rate is the depth of the water changing? Include

units in your answer. AV 1 dh .
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2. The acceleration of a horizontally moving particle can be modeled by the function a(t) = —3t ft{sec2
Find the position of the particle at t=4 if the initial velocity is 12 ft /sec and initial position is —2 ft.

Include units in your answer. F(q) ? Vv ( 03 =1 ( o) . -
SNALR! Lo
At (w\ S dV = -3t dE
(. dte
=\~ 3t
é J

V(4 TEETHE

W
w(=y: 12:
(,_",_fé’ ///

V(¢ "% 2 v

- 2P
vie) 1_%*& e RaEIE

N\w
+
(\

/ F(f>= —;l.t ?’-HZt -2
o (4):7

Q\é?;g'%tl"“"‘ i

?(f3 B
Y(f}: '\Z’t?’+/2t yC

usrﬂ/(i))’ - -f—() wzn)‘i‘c )

3,45 4
- 505 e

("

=C
"= -



. N be
* & Pt Mf;'h”‘ w/
U1 S Q or Test v

3. The Rlemann definition of the definite integral is given by
where Ax = b—:l—a. Explain why this is so in the context of

~b
hm Z (xi)ﬂ J- f (x)dx area under a curve. You may use diagrams to accompany

your explanation. \
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4. Write a definite integral whose value equals b//w/ -
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5. Find both the left and right rectangle approximations for f 7 —(x + 3)% + 20 dx using 4 rectangles of
a—————

o) equal width. — _
ke % f’ R =N n-y

d | l
i S .. \SS 6 6'5 ?“ ' = ?"Sw; . —
hJ TERAW AC g %

\

- u

L "

j t [ o z[w:)»f e)r{ u)*{(%)}
(xf3)+20éx~

“:, -§2.25 ¥ 15z :}051— 8‘DJ

pY» (s FO AL Sﬁ

- /[ qy + -5k 4 -bl4 ‘70251 - 2.5
LS ) g~
& fu 3. }S G b iih

l
e



Ty s 2 el Hee)w)

6. Approx1mate f ——dx using 4 trapezoids of equal Wld’ch
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7. Selected values for f(x) are given in the table below. Use (amuii?iﬁhhemann sum to approximate
flg(? f(x) dx using 4 intervals of equal width. AX T bi_:f} < ?’ e, fP_ 5,
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